o000 I1Igd #50 2004428 00

1.4 000

00 f0000 f/0 (D0OOUCODO)00CODOOODOOOOUOOOOOO

. +h)— f(x)

o S

fi(a) = lim h
xr000000000000DO0000f0O0 00000 (differentjable)DDDDDDDDDDD
gooooooopooopoono fooooo (differentiable)DDDDDDDDDD foooo
0000 /70000000000 eO00O00OO0O0ODOOOOOOOOODOOOOODOOOO

vy o fla+h) = f(a)
L

gobgoooboboooboobooboobooobo

fla+h) - f(a)

1m
h——0 h

y=f(x) 00000000000 00O0DO0O0O0O0OD 2000000000004 00000

0ooooooo
dy df(z) df d
/ / R _J -

Vo (@) oo =g g (@) 7o f(@)
000000000000000000000000000000000000000000
00000000000000000000

00000000 (1000)000000000000000f0000000000 200

flx+h) - f(z)
h

ooo0ooOo Ar0O0000DOO0
gboooog

—f(x)=e0000 h—0000¢e—00

flx+h)=f(x)+ f'(x)h+eh

0000 ARO0000000000er 0 (000)2000000000000000000000
00 f(z)000000000000000000000

000000000 f(z+h)0 AO0000 100 AL+B0O00000O0O0O0O0O0O0OOA=0
0000 1000000 f(x) 0000000000 B=f(x)000000 fle+hk) 0100
0000 e(h)h 000000 e(h)h= f(x+h)—(Ah+ f(z)) DOOOO

e(h) = A

0000000 A=f(x)000000000OO0O0OOOOOO

00 1.15 00 f,¢000000000«0000000
W) (F+9) =1+d

000000000o0oooooooU http://math.cs.kitami-it.ac.jp/ kouno/kougi.html 0000000

17



(2) (af) = af
(3) (f9) =fg+1d

(Q(f)/:fb—fd

g g?

00 1.16 [00000000] OO0y=f(z)0 2=¢(y) 000000000000
z=gof(z)=g(f(x)) 00000000

d _dsdy
de  dy dx

gooooo

00 1.17 [00O000O0O0O] O0OOO0OO0OI0D0OO0OO0 ROOOOOOOOOOO fOO0OOOO
goboobooboobooboobobboboo

dr 1
dy — dy
dx

obob 1.2 0000000000000 115,116, 117000000

1.5 00Oo0oboggoboodo

gobobooboooooobooooooobobooooobobobooo sgooooooooooo

OO0 000 f(@)=apa®+an_12" '+ +a12+a 000000000000 z O
00 f(x) 000000000 f000 (00 y=f(x) 00000000)0000000000
000000000000000000000000000000000(:") =nz"'0000
0000 1.1500000000000000000 1I0000000000000000 (00
0o0oo0)o

2)0000 000 QWI000000000000000000000000 2000
00000000001 000000000000000000 ¢(x)0 00000000000

gobooboobooob2000000000000002000000000000000D0O0OO
2

000000000000000 Qx)=20 P(x):x—DDDDDDDDDDDDDDDDD
T

000000000000 (1)0Do00o0o0o0o0U0 115 0000000000000000O
goooog

30000 00000000000000000000000 00000000000
000 f(z)=2"00000 R"={zeR|220}00000000000000000000
00000000000000000000000000000000000000000000
00000 1.1700000000000000 y=f(z)=¢z0z=y"(y=0)000000

(1)Q(:r):%DDDDDDDDDDDf(x),g(a:)DDDDD

18



dx

00 —=ny"t00D0
dy
d
7y — i — # _ ixl/nfl
dx dx. ny™—1 n
dy

00000 1),2)00000000000000000000000000O0000000O0OO
gogoo

4)0000 00000000000 0o0U0o0Do0b00Ud0deDOOOODOO y=a*0O
do0o00oooOoOo0O000o00o0oobObOo0o0o0o0oooooooooOooonooa
A)0D0O0OD0O0O0OD0OD0 : 0000 z=n0000 a"=¢---a0000000000000
——
n O

gooogo
a®t = a®a¥

gbooooboooooooboooobooboooon

B)00OOOO0O0OO0: 00z=000000000000000e¢*=e"=1000000
1

0000000000 v=-n0000000000000 a*a®=a"=100 at=a"=—
a

gboooog

1
C)000D000000: 002=-0000000000000000 (a®*)"=a*"=a'=
n

a00 ¢*=000000000 x:EDDDDD a*=(Ya)" DOODOODO
n

D)0000O00O0O0O0: 0OO00O0O0O00OO0O0O0O0OU0C0OO0O0OUOO0OOOOOOoOOOOoOoO
gbooobdobobobobooboboboobooboboboobode 00bobobobg
000o0oUooUuoooU {e,} 000000 00000O0O0ODO0OD {e*} 00000000
oo0o000O0O000000oO0oOoooooooooO0OD 000000000 a® = lim a

n—>00

goooooobooooboobooobooooobobo0oo0D boobo D000 De>10000000
‘<e<1lOOODOOD’000000C0OOOUOOOOUOOOOOOOOO (DOODOOO
0)000000000O00Taylor D000 0OO0OO0OOOOOOOOO

00000000000000000 e000000000000000000000000
0000000y=f(z)=a*0000

flx+h)— f(x) a®*th—a® ah —1
h h h

a —1

DDDDDD}I}H}) oboooboboooboboooboob0 e* O z=000000000

O0e0D00000D00D0D000DDO000O000 1000000 «0000000®0O0
00 e0000DDDODO (%) =e* 000000000 «000000a=€e*00000

(az)/ _ (ek$)/ _ k_ekm = q* loga

1 n
(2)DDDDDDDDDDDDDDDDDDDUL”:<1+—> oooooooobOo0000 egobO0OOOCOODOOOO
n

19



000 (Doooooooooooooo)o

50000 O00000000000e#1,e>0000000 y=¢*0000000
doo0oO0oO0o0O00000U000 1.400000000000000 log,20000(eO000
00)000000000000 «000D000000D0O0O00D0DDODO0O0O0D0O0Y = log,x

d 1
DDDx:ayDDEID—x:aylogaDDDD(logax)’: OoDooooooooogd
dy zrloga

1
(logzx) =— 0000
x

63000 00 0(0,0)00000 1000000 P(r,y) 0000(1,000 QOOODOO00

ing
DQOPDHDDDDDDDc%&:xﬁmﬁzyDDDDDwa#ODDtw0:$n9
COS

goboogoobobooobobooboooobobobooboobosoboboooobonoa
00000 (0000 pl30 800)0

sinh
li =1
hli% h
sinz 0000000000000
sin(z + h) —sinx . cosh—1 N sinh
=Smr——— COS T
h h h
h—1 in? h
ooog 28 - 0000000 (sing) =cosz 0000
h h(cosh+1)
cosx = sin(z + %), —sinz = cos(z + %) O000000O(cosz) = —sine 000000
tang = —— 000000 (tanz) = —— 000000
COS COoS“ T

7Yooooo jubob1l1010b0obooobooocooboboboooooboboooboon

0000000 (DooooooOoO0)0000O00O0O0OU00OOODUUDUODODODODOoDOOOOO
000000 b0000b0bO00Ob0b0y = sinax O [—%,%]DDDDDDDDDDDDDDD
goooOooOoo0oOo0o0oO0o0obOobOO0bO0bObDO0oODUOoOOoOUOobOOobOOobOobOoDbOoDO
goOoO0 arcsinz OO0 SinflxDDDDDDDDDDDDDy:arcsinxDDDl]x:siny

d
(—ggyégﬂDDDDEgzmw:wﬂ—ﬂﬁy: 1—2200

dy 1

. ’
—= = (arcsinz) = ——
dx ( ) V1—22

gooad
cosz 0 [0,7] 00000000 arccosx 000 Cos 'z 0000000000000 OOO0
arcsinz OO0 O00O0OD0OO0O0OODOOO

dy (arccos )’ !
% _ (arccosz) — — ———
dz V1 — 72

gboooog

20



tanz O (f%,g)DDDDDDDD arctanz 000 Tan '2 0000000000000y =

d 1 2 2
arctanz OO0 0 0x = tany (—1<1:<1)DDD @ = yrsmy =1+
2 2 dy cos?y cos?y
tan?y =1+2200
d 1
dZ = (arctanl‘)/ = W

gboooog

ugboo 1.3 0O0boobooboooboooooboobooboooobOOoboOoboOoboon

inh h—1
lim o0 =1 lim < —
h—0 h h—0
z+1
1)y =2a? 2 y= -
Wy=z (2)y 2 +1
(3) y =coszx (4) y =logx
000014 00O0DO0OOO0OOOOUOOD (DDOOOOOOO)O
(1) y = ze” (2) y = sin'?? 2z
(3) y = 3 log(22® + x) (4) y = arcsin(2? + 1)

(5)y=a"

21



